Coordinates L2 Mark Scheme
1(a) C [1]
1(b) E [1]
1(c) B [1]
1(d) F [1]
2(a) (-1,4) [1]
2(b) (-2,-3) [1]
2(c) (4,0) [1]
2(d) (4,—4) [1]
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3(a) Correct point plotted [1]
3(b) Correct point plotted [1]
3(c) Correct point plotted [1]
3(d) Correct point plotted [1]

© PassFunctionalSkills.co.uk 2021




y
5
4
a)
3 L
2
1 {
4 b),
-5 -4 -3 -2 -10 1 2 3 4
-1
-2
-3
449
c). =
4(a) Correct point plotted [1]
4(b) Correct point plotted [1]
4(c) Correct point plotted [1]
4(d) Correct point plotted [1]
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Points correctly plotted and labelled [1]
Straight lines drawn between points correctly [1]
6 C=(-12) (1]
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7 C=(1,-2) [1] Allow D = (1,—-2)

D =(1,2) [1] Allow C = (1,2)

Area = base X height + 2 [1]
15 = 6 X height + 2

Height = 15+3 =5cm [1]

[1] Allow answer between (-5, —3)

¢=(E1-3) and (5,—3)
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